

ESTIMATES FOR INITIAL COEFFICIENTS OF CERTAIN
SUBCLASSES OF BI-CLOSE-TO-CONVEX ANALYTIC
FUNCTIONS

SARBESWAR BARIK¹ AND AKSHYA KUMAR MISHRA²

ABSTRACT. In this paper we find bounds on the moduli of the second, third and fourth Taylor-Maclaurin's coefficients for functions in a subclass of *bi-close-to-convex* analytic functions, which includes the class studied by Srivastava et al. as particular case. Our estimates on the second and third coefficients improve upon earlier bounds. The result on the fourth coefficient is new. Our bounds are obtained by refining well known estimates for the initial coefficients of the Carthéodory functions.

1. INTRODUCTION AND DEFINITIONS

Let \mathcal{A} denote the class of functions $f(z)$ represented by the following *normalized* Taylor-Maclaurin's series:

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$

which are analytic in the *open* unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$. A function $f \in \mathcal{A}$ is said to be *univalent* in \mathbb{U} if $f(z)$ is one-to-one in \mathbb{U} . As usual, we denote by \mathcal{S} the subclass of functions in \mathcal{A} which are univalent in \mathbb{U} . The function $f \in \mathcal{S}$ has a *compositional inverse* f^{-1} , defined by

$$f^{-1}(f(z)) = z \quad (z \in \mathbb{U})$$

and

$$f(f^{-1}(w)) = w \quad (w \in \text{range of } f).$$

Key words and phrases. Analytic functions, analytic continuation, univalent functions, bi-univalent functions, coefficient bounds.

2010 *Mathematics Subject Classification.* Primary: 30C45.

DOI

Received: April 05, 2020.

Accepted: August 31, 2020.

It is well known that for every function $f \in \mathcal{S}$ the compositional inverse function $f^{-1}(w)$ is analytic in some disc $|w| < r_0(f)$, $r_0(f) \geq \frac{1}{4}$. Moreover, $f^{-1}(w)$ has the Taylor-Maclaurin series expansion of the form:

$$f^{-1}(w) = w + \sum_{n=2}^{\infty} b_n w^n \quad (|w| < r_0(f)),$$

where

$$b_n = \frac{(-1)^{n+1}}{n!} |A_{ij}|$$

and $|A_{ij}|$ is the $(n - 1)^{\text{th}}$ order determinant whose entries are defined, in terms of the coefficients of $f(z)$, by the following:

$$|A_{ij}| = \begin{cases} [(i - j + 1)n + j - 1]a_{i-j+2}, & \text{if } i + 1 \geq j, \\ 0, & \text{if } i + 1 < j. \end{cases}$$

For initial values of n we, therefore, have:

$$(1.2) \quad b_2 = -a_2, \quad b_3 = 2a_2^2 - a_3, \quad b_4 = 5a_2a_3 - 5a_2^3 - a_4,$$

and so on.

The function $f \in \mathcal{A}$ is said to be *bi-univalent* in \mathbb{U} if $f \in \mathcal{S}$ and $f^{-1}(w)$ has univalent *analytic continuation* to the unit disk \mathbb{U} . For example, the function

$$f(z) = ze^{-Az}$$

is bi-univalent in \mathbb{U} if $|A| \leq \frac{1}{e}$ [10]. For some more examples see [12, 15, 19]. We denote by σ , the class of analytic bi-univalent functions in \mathbb{U} given by (1.1). Investigation on the class σ was initiated by Lewin [14]. He showed that $|a_2| \leq 1.51$ for every $f \in \sigma$. Subsequently, Brannan and Clunie [3] surmised that $|a_2| \leq \sqrt{2}$. Netanyahu [16] finally proved that $|a_2| \leq \frac{4}{3}$ ($f \in \sigma$). Later Brannan and Taha [4] introduced and studied new sub-classes of bi-univalent functions (also see Taha [20]). For a detailed history of the developments on the class of functions σ see [2, 13].

In this paper we shall also investigate bi-univalent functions defined on

$$\Delta = \{z \in \mathbb{C} : 1 < |z| < \infty\}.$$

Let Σ denote the class of analytic functions of the form:

$$(1.3) \quad h(z) = z + \sum_{n=0}^{\infty} \frac{b_n}{z^n} \quad (z \in \Delta),$$

which are univalent in Δ . The inverse of a function in Σ is represented by

$$(1.4) \quad h^{-1}(w) = w + \sum_{n=0}^{\infty} \frac{B_n}{w^n} \quad (M < |w| < \infty, M > 1).$$

We say that the function $h \in \Sigma$ is bi-univalent in Δ if $h^{-1}(w)$ has analytic continuation to Δ .

In order to describe certain sub classes of \mathcal{S} and Σ we shall also need the class \mathcal{P} consisting of functions $P(z)$ which are analytic in \mathbb{U} , satisfy $|\arg(P(z))| \leq \frac{\pi}{2}$ ($z \in \mathbb{U}$) and $P(0) = 1$. The functions $P(z) \in \mathcal{P}$ are named after Carthéodory.

It is well known that if f in \mathcal{A} is such that $f' \in \mathcal{P}$, then $f \in \mathcal{S}$. In fact, f is *close-to-convex* [7, 10]. We denote the class of these functions by Q . Chichra [6] studied the class of functions Q_λ ($\lambda \geq 0$) consisting of functions $f \in \mathcal{A}$ and satisfying $(1 - \lambda)\frac{f(z)}{z} + \lambda f'(z) \in \mathcal{P}$. We observe that in the particular case $\lambda = 1$, we have $Q_1 := Q$. Chichra [6] further more, proved that

$$Q_{\lambda_1} \subseteq Q_{\lambda_2} \quad (0 \leq \lambda_2 \leq \lambda_1) \quad (\text{also see [8]}).$$

Therefore,

$$Q_\lambda \subseteq Q_1 := Q \subset \mathcal{S} \quad (\lambda \geq 1).$$

Frasin and Aouf [9] introduced the following subclass of *bi-close-to-convex* analytic functions analogous to the subclass Q_λ studied by Chichra [6].

Definition 1.1 (See [9]). The function $f(z)$ given by (1.1) is said to be in the class σQ_λ^α ($0 < \alpha \leq 1, \lambda \geq 1$) if the following conditions are satisfied:

$$(1.5) \quad f \in \sigma \quad \text{and} \quad \left| \arg \left((1 - \lambda) \frac{f(z)}{z} + \lambda f'(z) \right) \right| < \frac{\alpha\pi}{2} \quad (z \in \mathbb{U})$$

and

$$(1.6) \quad \left| \arg \left((1 - \lambda) \frac{g(w)}{w} + \lambda g'(w) \right) \right| < \frac{\alpha\pi}{2} \quad (w \in \mathbb{U}),$$

where g is the analytic continuation of f^{-1} to \mathbb{U} .

We observe that in the particular case $\lambda = 1$, the class $\sigma Q_1^\alpha := \sigma Q^\alpha$ was earlier studied by Srivastava et al. [19]. More recently, Çağlar et al. [5] introduced a more general class of bi-univalent analytic functions than the class σQ_λ^α (also see Srivastava et al. [1, 18, 21]). However, in this paper we shall restrict our attention to the class σQ_λ^α .

In addition to the class σQ_λ^α , in this paper we shall also study the following subclass of Σ .

Definition 1.2. The function $h(z)$ given by (1.3) is said to be in the class $\Sigma\Theta_\lambda^\alpha$ ($0 < \alpha \leq 1, \lambda \geq 1$) if $h \in \Sigma$ and the following conditions are satisfied:

$$(1.7) \quad \left| \arg \left((1 - \lambda) \frac{h(z)}{z} + \lambda h'(z) \right) \right| < \frac{\alpha\pi}{2} \quad (z \in \Delta)$$

and

$$(1.8) \quad \left| \arg \left((1 - \lambda) \frac{H(w)}{w} + \lambda H'(w) \right) \right| < \frac{\alpha\pi}{2} \quad (w \in \Delta),$$

where H is the analytic continuation of h^{-1} to Δ .

In the present paper we develop an elementary method to find new estimates for $|a_2|$ and $|a_3|$ for $f \in \sigma Q_\lambda^\alpha$, which improve upon bounds of Frasin and Aouf [9] and afortiori, the bounds obtained earlier by Srivastava et al. [19]. We also extend a result of Hayami and Owa [12] and find estimate on $|a_4|$ for $f \in \sigma Q_\lambda^\alpha$. Further more, we find estimates on the initial coefficients $|b_0|$, $|b_1|$ and $|b_2|$ for functions in the class $\Sigma\Theta_\lambda^\alpha$. We note that very recently Hamidi et al. [11] studied coefficient estimate problem for a class of functions similar to our class $\Sigma\Theta_\lambda^\alpha$ under the additional restriction that the initial coefficients of the functions are missing. Thus our Theorem 2.2, proved below, on bounds of initial coefficients attempts to bridge this gap and supplements the work in [11]. The methods adopted and developed in this paper are applicable for finding improved coefficient estimates for the several sub-classes of bi-univalent functions studied in [5, 17] and [18].

2. COEFFICIENT BOUNDS FOR THE FUNCTION CLASSES σQ_λ^α AND $\Sigma\Theta_\lambda^\alpha$

In this section we denote by $g(w)$ the analytic continuation of the function $f^{-1}(w)$ to the unit disc \mathbb{U} . We state and prove the following.

Theorem 2.1. *Let the function $f(z)$ given by (1.1), be in the class σQ_λ^α ($0 < \alpha \leq 1$ and $\lambda \geq 1$). Then*

$$(2.1) \quad |a_2| \leq \begin{cases} \frac{2\alpha}{\sqrt{2\alpha(1+2\lambda)+(1-\alpha)(1+\lambda)^2}}, & 1 \leq \lambda \leq 1 + \sqrt{2}, \\ \frac{2\alpha}{(1+\lambda)}, & \lambda > 1 + \sqrt{2}, \end{cases}$$

$$(2.2) \quad |a_3| \leq \frac{2\alpha}{1 + 2\lambda}$$

and

$$(2.3) \quad |a_4| \leq \frac{2\alpha}{1 + 3\lambda} \begin{cases} 1 + \frac{2(1-\alpha)(1+\lambda)\{6\alpha(1+2\lambda)+(1-2\alpha)(1+\lambda)^2\}}{3[2\alpha(1+2\lambda)+(1-\alpha)(1+\lambda)^2]^{\frac{3}{2}}}, & 1 \leq \lambda \leq 1 + \sqrt{2}, 0 < \alpha \leq 1, \\ 1 + \frac{2(1-\alpha)\{6\alpha(1+2\lambda)+(5-4\alpha)(1+\lambda)^2\}}{3(1+\lambda)^2}, & 1 + \sqrt{2} < \lambda \leq \lambda_0, 0 < \alpha \leq 1 \\ & \text{or } \lambda > \lambda_0, 0 < \alpha \leq \frac{1}{2}, \\ 1 + \frac{2(1-\alpha)\{6\alpha(1+2\lambda)+4(2-\alpha)(1+\lambda)^2\}}{3(1+\lambda)^2}, & \lambda > \lambda_0, \frac{1}{2} < \alpha \leq 1, \end{cases}$$

where λ_0 is the positive root of the quadratic equation

$$2(1 - 2\alpha)\lambda^2 + 3(1 + 3\alpha)\lambda + (1 + 3\alpha) = 0.$$

Proof. Let the function $f(z)$ be a member of the class σQ_λ^α ($\lambda \geq 1, 0 < \alpha \leq 1$). Then by Definition 1.1, we have the following:

$$(2.4) \quad (1 - \lambda)\frac{f(z)}{z} + \lambda f'(z) = [P(z)]^\alpha$$

and

$$(2.5) \quad (1 - \lambda) \frac{g(w)}{w} + \lambda f'(w) = [Q(w)]^\alpha,$$

respectively, where $P(z)$ and $Q(w)$ are members of the Carthéodory class \mathcal{P} and have the forms:

$$(2.6) \quad P(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots \quad (z \in \mathbb{U})$$

and

$$(2.7) \quad Q(w) = 1 + l_1 w + l_2 w^2 + l_3 w^3 + \dots \quad (w \in \mathbb{U}),$$

respectively. Now, equating the coefficients of $(1 - \lambda) \frac{f(z)}{z} + \lambda f'(z)$ with the coefficients of $[P(z)]^\alpha$, we get

$$(2.8) \quad (1 + \lambda)a_2 = \alpha c_1 \quad \text{or} \quad a_2 = \frac{\alpha}{1 + \lambda} c_1,$$

$$(2.9) \quad (1 + 2\lambda)a_3 = \alpha c_2 + \frac{\alpha(\alpha - 1)}{2} c_1^2,$$

$$(2.10) \quad (1 + 3\lambda)a_4 = \alpha c_3 + \alpha(\alpha - 1)c_1 c_2 + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6} c_1^3.$$

Similarly, a comparison of coefficients of both sides of (2.5) yields:

$$(2.11) \quad (1 + \lambda)a_2 = -\alpha l_1,$$

$$(2.12) \quad (1 + 2\lambda)(2a_2^2 - a_3) = \alpha l_2 + \frac{\alpha(\alpha - 1)}{2} l_1^2$$

and

$$(2.13) \quad -(1 + 3\lambda)(5a_2^3 - 5a_2 a_3 + a_4) = \alpha l_3 + \alpha(\alpha - 1)l_1 l_2 + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6} l_1^3.$$

In order to find improved estimates on $|a_2|$ and $|a_3|$, we first establish certain relations involving c_1, l_1, c_2 and l_2 . To this end we observe that (2.8) and (2.11), together give

$$(2.14) \quad c_1 = -l_1.$$

We add (2.9) with (2.12), then use the relation $c_1 = -l_1$ and get the following:

$$2(1 + 2\lambda)a_2^2 = \alpha(c_2 + l_2) + \alpha(\alpha - 1)c_1^2.$$

Putting $a_2 = \frac{\alpha}{(1 + \lambda)}c_1$ from (2.8) we have after simplification:

$$(2.15) \quad c_1^2 = \frac{(1 + \lambda)^2}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2}(c_2 + l_2).$$

The relation (2.15) also gives the following refined estimates:

$$(2.16) \quad |c_1| \leq \frac{2(1 + \lambda)}{\sqrt{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2}} \quad (1 \leq \lambda \leq 1 + \sqrt{2})$$

and

$$(2.17) \quad |c_2 + l_2| \leq \frac{4 [2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2]}{(1 + \lambda)^2} \quad (\lambda \geq 1 + \sqrt{2}).$$

Now using the estimates (2.16) for the range $1 \leq \lambda \leq 1 + \sqrt{2}$ and $|c_1| \leq 2$ for the range $\lambda > 1 + \sqrt{2}$ in the expression (2.8) we get:

$$|a_2| \leq \begin{cases} \frac{2\alpha}{\sqrt{2\alpha(1+2\lambda)+(1-\alpha)(1+\lambda)^2}}, & 1 \leq \lambda \leq 1 + \sqrt{2}, \\ \frac{2\alpha}{(1+\lambda)}, & \lambda > 1 + \sqrt{2}. \end{cases}$$

We thus get the claimed bound of (2.1).

We now express a_3 in terms of the coefficients of the functions $P(z)$ and $Q(w)$. For this, we subtract (2.12) from (2.9) and get

$$2(1 + 2\lambda)(a_3 - a_2^2) = \alpha(c_2 - l_2) + \frac{\alpha(\alpha - 1)}{2}(c_1^2 - l_1^2).$$

The relation $c_1^2 = l_1^2$ from (2.14), reduces the above expression to

$$(2.18) \quad a_3 = a_2^2 + \frac{\alpha}{2(1 + 2\lambda)}(c_2 - l_2).$$

Next putting $a_2 = \frac{\alpha}{1+\lambda}c_1$ and then using (2.15) for c_1^2 , we obtain

$$\begin{aligned} a_3 &= \frac{\alpha^2}{(1 + \lambda)^2}c_1^2 + \frac{\alpha}{2(1 + 2\lambda)}(c_2 - l_2), \\ &= \frac{\alpha^2}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2}(c_2 + l_2) + \frac{\alpha}{2(1 + 2\lambda)}(c_2 - l_2), \\ &= \alpha \left(\frac{\alpha}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2} + \frac{1}{2(1 + 2\lambda)} \right) c_2 \\ &\quad + \alpha \left(\frac{\alpha}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2} - \frac{1}{2(1 + 2\lambda)} \right) l_2. \end{aligned}$$

Since

$$\begin{aligned} &\frac{\alpha}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2} - \frac{1}{2(1 + 2\lambda)} \\ &= \frac{-(1 - \alpha)(1 + \lambda)^2}{2(1 + 2\lambda)(2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2)} < 0, \end{aligned}$$

an application of triangle inequality gives the following

$$\begin{aligned} |a_3| &\leq \alpha \left(\frac{\alpha}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2} + \frac{1}{2(1 + 2\lambda)} \right) |c_2| \\ &\quad + \alpha \left(\frac{1}{2(1 + 2\lambda)} - \frac{\alpha}{2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2} \right) |l_2|. \end{aligned}$$

Therefore, the well known estimates $|c_2| \leq 2$ and $|l_2| \leq 2$ (cf. [4]), give the following:

$$(2.19) \quad |a_3| \leq \frac{2\alpha}{(1+2\lambda)}.$$

This is precisely our assertion at (2.2).

We next derive a relation between $c_1(c_2 - l_2)$ and $c_3 + l_3$ for our future use. For this purpose we add (2.13) and (2.10). After simplification we get the following:

$$(2.20) \quad -(1+3\lambda)(5a_2^3 - 5a_2a_3) = \alpha(c_3 + l_3) + \alpha(\alpha - 1)c_1(c_2 - l_2).$$

By substituting $a_3 = a_2^2 + \frac{\alpha}{2(1+2\lambda)}(c_2 - l_2)$ from (2.18) and $a_2 = \frac{\alpha}{1+\lambda}c_1$ in the above equation (2.20) we have

$$(2.21) \quad c_1(c_2 - l_2) = \mu_0(c_3 + l_3),$$

where

$$\mu_0 = \frac{2(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)}.$$

We observe that $0 < \mu_0 \leq 2$ for every $\lambda \geq 1$ if $0 \leq \alpha \leq \frac{1}{2}$. However, if $\frac{1}{2} \leq \alpha < 1$, then $0 < \mu_0 \leq 2$ for $1 < \lambda \leq \lambda_0$, where λ_0 is the positive root of the quadratic equation

$$2(1-2\alpha)\lambda^2 + 3(1+3\alpha)\lambda + (1+3\alpha) = 0.$$

Moreover, $\lambda_0 > \frac{97}{16}$.

We are now ready to find a bound for $|a_4|$. As in our estimate for $|a_3|$ in this case also we shall express a_4 in terms of the first three coefficients of $P(z)$ and $Q(w)$. For this purpose we subtract (2.13) from (2.10) and get

$$\begin{aligned} 2(1+3\lambda)a_4 = & -(1+3\lambda)(5a_2^3 - 5a_2a_3) + \alpha(c_3 - l_3) + \alpha(\alpha - 1)(c_1c_2 - l_1l_2) \\ & + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6}(c_1^3 - l_1^3). \end{aligned}$$

The relation $c_1 = -l_1$ reduces the above expression to

$$(2.22) \quad \begin{aligned} 2(1+3\lambda)a_4 = & -(1+3\lambda)(5a_2^3 - 5a_2a_3) \\ & + \alpha(c_3 - l_3) + \alpha(\alpha - 1)c_1(c_2 + l_2) + \frac{\alpha(\alpha - 1)(\alpha - 2)}{3}c_1^3. \end{aligned}$$

In (2.22) we replace $-(1+3\lambda)(5a_2^3 - 5a_2a_3)$ by the expression on the right hand side of the equality of (2.20) and use the relation $c_1 = -l_1$. This gives on simplification the following:

$$(2.23) \quad 2(1+3\lambda)a_4 = 2\alpha c_3 + \alpha(\alpha - 1)c_1(c_2 - l_2) + \alpha(\alpha - 1)c_1(c_2 + l_2) + \frac{\alpha(\alpha - 1)(\alpha - 2)}{3}c_1^3.$$

First suppose that λ and α are constrained by the requirement $1 \leq \lambda \leq \lambda_0$ and $0 < \alpha \leq 1$ or $\lambda > \lambda_0$ and $0 < \alpha \leq \frac{1}{2}$. Then in the equation (2.23) replacing $c_1(c_2 - l_2)$ by

$\mu_0(c_3 + l_3)$ from (2.21) we get:

$$\begin{aligned}
 2(1+3\lambda)a_4 &= 2\alpha c_3 + \alpha(\alpha-1) \frac{2(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} (c_3 + l_3) \\
 &\quad + \alpha(\alpha-1)c_1(c_2 + l_2) + \frac{\alpha(\alpha-1)(\alpha-2)}{3} c_1^3 \\
 &= \frac{10\alpha^2(1+3\lambda) + 2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} c_3 \\
 &\quad - \frac{2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} l_3 \\
 (2.24) \quad &\quad - \alpha(1-\alpha)c_1(c_2 + l_2) + \frac{\alpha(\alpha-1)(\alpha-2)}{3} c_1 c_1^2.
 \end{aligned}$$

Suppose that we furthermore restrict λ in the range $1 \leq \lambda \leq 1 + \sqrt{2} < \lambda_0$, $0 < \alpha \leq 1$. Then in (2.24) we substitute the expression in the right hand side of the equality of (2.15) in place of c_1^2 and get

$$\begin{aligned}
 2(1+3\lambda)a_4 &= \frac{10\alpha^2(1+3\lambda) + 2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} c_3 \\
 &\quad - \frac{2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} l_3 - \alpha(1-\alpha)c_1(c_2 + l_2) \\
 &\quad + \frac{\alpha(1-\alpha)(2-\alpha)}{3} \frac{(1+\lambda)^2}{2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2} c_1(c_2 + l_2) \\
 &= \frac{10\alpha^2(1+3\lambda) + 2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} c_3 \\
 &\quad - \frac{2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} l_3 \\
 (2.25) \quad &\quad - \alpha(1-\alpha) \left[\frac{\{6\alpha(1+2\lambda) + (1-2\alpha)(1+\lambda)^2\}}{3[2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2]} \right] c_1(c_2 + l_2).
 \end{aligned}$$

Now, we apply the triangle inequality in (2.25) and get the following:

$$\begin{aligned}
 2(1+3\lambda)|a_4| &\leq \frac{10\alpha^2(1+3\lambda) + 2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} |c_3| \\
 &\quad + \frac{2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} |l_3| \\
 &\quad + \alpha(1-\alpha) \left[\frac{\{6\alpha(1+2\lambda) + (1-2\alpha)(1+\lambda)^2\}}{3[2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2]} \right] |c_1(c_2 + l_2)|.
 \end{aligned}$$

Note that we made use of the fact that if $1 \leq \lambda \leq 1 + \sqrt{2}$ and $0 < \alpha \leq 1$ then

$$6\alpha(1+2\lambda) + (1-2\alpha)(1+\lambda)^2 > 0.$$

The well known estimates $|c_n| \leq 2$, $|l_n| \leq 2$ ($n = 2, 3$), and the refined bound (2.16) for $|c_1|$ yields the following:

$$\begin{aligned} 2(1+3\lambda)|a_4| &\leq \frac{10\alpha^2(1+3\lambda) + 2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} 2 \\ &\quad + \frac{2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} 2 \\ &\quad + \alpha(1-\alpha) \left[\frac{\{6\alpha(1+2\lambda) + (1-2\alpha)(1+\lambda)^2\}}{3[2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2]} \right] \\ &\quad \times \frac{2(1+\lambda)}{\sqrt{[2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2]}} 4 \end{aligned}$$

or

$$\begin{aligned} |a_4| &\leq \frac{2\alpha}{1+3\lambda} \left(1 + \frac{2(1-\alpha)(1+\lambda) \{6\alpha(1+2\lambda) + (1-2\alpha)(1+\lambda)^2\}}{3[2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2]^{\frac{3}{2}}} \right) \\ &\quad (1 \leq \lambda \leq 1 + \sqrt{2}, 0 < \alpha \leq 1). \end{aligned}$$

We get the first bound of (2.3).

Next, suppose that $1 + \sqrt{2} < \lambda \leq \lambda_0$ and $0 < \alpha \leq 1$ or $\lambda > \lambda_0$ and $0 < \alpha \leq \frac{1}{2}$. We apply the triangle inequality in (2.24) and get

$$\begin{aligned} 2(1+3\lambda)|a_4| &\leq \frac{10\alpha^2(1+3\lambda) + 2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} |c_3| \\ &\quad + \frac{2\alpha(1-\alpha)(1+\lambda)(1+2\lambda)}{5\alpha(1+3\lambda) + 2(1-\alpha)(1+\lambda)(1+2\lambda)} |l_3| \\ &\quad + \alpha(1-\alpha)|c_1(c_2 + l_2)| + \frac{\alpha(\alpha-1)(\alpha-2)}{3} |c_1^3|. \end{aligned}$$

The estimates $|c_n| \leq 2$ ($n = 1, 3$), $|l_3| \leq 2$ together with the estimate (2.17) for $|c_2 + l_2|$ yields the following:

$$\begin{aligned} |a_4| &\leq \frac{2\alpha}{(1+3\lambda)} \left(1 + \frac{2(1-\alpha) \{6\alpha(1+2\lambda) + (5-4\alpha)(1+\lambda)^2\}}{3(1+\lambda)^2} \right) \\ &\quad \left(1 + \sqrt{2} \leq \lambda \leq \lambda_0, 0 \leq \alpha < 1 \text{ or } \lambda > \lambda_0, 0 \leq \alpha \leq \frac{1}{2} \right). \end{aligned}$$

We get the second estimate in (2.3).

Lastly, if $\lambda > \lambda_0$ and $\frac{1}{2} < \alpha < 1$, then we apply the triangle inequality in (2.23) and get

$$2(1+3\lambda)|a_4| \leq 2\alpha|c_3| + \alpha(1-\alpha)|c_1|(c_2 - l_2)| + \alpha(1-\alpha)|c_1|(c_2 + l_2)| + \frac{\alpha(1-\alpha)(2-\alpha)}{3} |c_1^3|.$$

By using the well bounds $|c_n| \leq 2$ ($n = 1, 2, 3$), $|l_2| \leq 2$ and the refined estimate (2.17) for $|c_2 + l_2|$ we have

$$2(1 + 3\lambda)|a_4| \leq 4\alpha + 8\alpha(1 - \alpha) + \frac{8\alpha(1 - \alpha)[2\alpha(1 + 2\lambda) + (1 - \alpha)(1 + \lambda)^2]}{(1 + \lambda^2)} + \frac{8\alpha(1 - \alpha)(2 - \alpha)}{3}$$

or

$$|a_4| \leq \frac{2\alpha}{(1 + 3\lambda)} \left(1 + \frac{2(1 - \alpha) \{6\alpha(1 + 2\lambda) + 4(2 - \alpha)(1 + \lambda)^2\}}{3(1 + \lambda)^2} \right) \left(\lambda > \lambda_0, \frac{1}{2} < \alpha < 1 \right).$$

This is precisely the third estimate in (2.3). Thus, the proof of Theorem 2.1 is completed. \square

Theorem 2.2. *Let the function $h(z)$, given by (1.3), be in the class $\Sigma\Theta_\lambda^\alpha$ ($\lambda \geq 1, 0 < \alpha \leq 1$). Then*

$$(2.26) \quad |b_1| \leq \frac{2\alpha}{2\lambda - 1}$$

and

$$(2.27) \quad |b_2| \leq \begin{cases} \frac{2\alpha}{3\lambda - 1} \left(1 + \frac{2(1 - \alpha)|1 - 2\alpha|}{3} \right) & 1 \leq \lambda \leq \lambda_1, 0 < \alpha \leq 1 \text{ or } \lambda > \lambda_1, 0 < \alpha \leq \frac{1}{2}, \\ \frac{2\alpha}{3\lambda - 1} \left(1 + \frac{4(1 - \alpha)(1 + \alpha)}{3} \right) & \lambda > \lambda_1, \frac{1}{2} < \alpha \leq 1, \end{cases}$$

where λ_1 is the largest positive root of the quadratic equation

$$2(1 - 2\alpha)\lambda^2 + 3(3\alpha - 1)\lambda + 1 - 3\alpha = 0.$$

Proof. We adopt and suitably modify the lines of proof of Theorem 2.1 here. Therefore, we choose to omit the details and sketch only the main steps. In this case we have the following:

$$(2.28) \quad (1 - \lambda) \frac{h(z)}{z} + \lambda h'(z) = [P(z)]^\alpha$$

and

$$(2.29) \quad (1 - \lambda) \frac{H(w)}{w} + \lambda H'(w) = [Q(w)]^\alpha,$$

respectively, where

$$(2.30) \quad P(z) = 1 + \frac{c_1}{z} + \frac{c_2}{z^2} + \frac{c_3}{z^3} + \dots \quad (z \in \Delta)$$

and

$$(2.31) \quad Q(w) = 1 + \frac{l_1}{w} + \frac{l_2}{w^2} + \frac{l_3}{w^3} + \dots \quad (w \in \Delta)$$

are functions with positive real part in Δ . By comparing coefficients we get:

$$(2.32) \quad (1 - \lambda)b_0 = \alpha c_1,$$

$$(2.33) \quad (1 - 2\lambda)b_1 = \alpha c_2 + \frac{1}{2}\alpha(\alpha - 1)c_1^2,$$

$$(2.34) \quad (1 - 3\lambda)b_2 = \alpha c_3 + \alpha(\alpha - 1)c_1c_2 + \frac{1}{6}\alpha(\alpha - 1)(\alpha - 2)c_1^3,$$

$$(2.35) \quad (1 - \lambda)b_0 = -\alpha l_1,$$

$$(2.36) \quad (1 - 2\lambda)b_1 = -\alpha l_2 - \frac{1}{2}\alpha(\alpha - 1)l_1^2$$

and

$$(2.37) \quad -(1 - 3\lambda)(b_2 + b_0b_1) = \alpha l_3 + \alpha(\alpha - 1)l_1l_2 + \frac{1}{6}\alpha(\alpha - 1)(\alpha - 2)l_1^3.$$

The equations (2.32) and (2.35) give the following relation between c_1 and l_1 :

$$(2.38) \quad c_1 = -l_1.$$

Similarly, the equations (2.33) and (2.36) provide the following relation among c_1 , c_2 and l_2

$$(2.39) \quad c_2 + l_2 = (1 - \alpha)c_1^2.$$

We add (2.36) and (2.33) which yields, after simplification, the following:

$$(2.40) \quad 2(1 - 2\lambda)b_1 = \alpha(c_2 - l_2).$$

By applying the triangle inequality and using the well known estimates $|c_2| \leq 2$ and $|l_2| \leq 2$ we obtain

$$(2.41) \quad |b_1| \leq \frac{2\alpha}{2\lambda - 1}.$$

This is precisely our assertion at (2.26).

In order to find a bound for $|b_2|$ we subtract (2.37) from (2.34) and after simplification get

$$(2.42) \quad 2(1 - 3\lambda)b_2 = -(1 - 3\lambda)b_0b_1 + \alpha(c_3 - l_3) + \alpha(\alpha - 1)c_1(c_2 + l_2) + \frac{1}{3}\alpha(\alpha - 1)(\alpha - 2)c_1^3.$$

Similarly addition of (2.37) and (2.34) yields:

$$(2.43) \quad -(1 - 3\lambda)b_0b_1 = \alpha(c_3 + l_3) + \alpha(\alpha - 1)c_1(c_2 - l_2).$$

By substituting $b_1 = \frac{\alpha(c_2 - l_2)}{2(1 - 2\lambda)}$ from (2.40) and $b_0 = \frac{\alpha c_1}{1 - \lambda}$ in the above equation (2.43) we have

$$(2.44) \quad c_1(c_2 - l_2) = \mu_1(c_3 + l_3),$$

where

$$\mu_1 = \frac{2(\lambda - 1)(2\lambda - 1)}{(3\lambda - 1)\alpha + 2(1 - \alpha)(\lambda - 1)(2\lambda - 1)}.$$

We notice that $0 < \mu_1 \leq 2$ for every $\lambda \geq 1$ if $0 < \alpha \leq \frac{1}{2}$. However, if $\frac{1}{2} < \alpha \leq 1$, then $0 < \mu_1 \leq 2$ for $1 \leq \lambda \leq \lambda_1$, where λ_1 is the largest positive root of the quadratic equation

$$2(1 - 2\alpha)\lambda^2 + 3(3\alpha - 1)\lambda + 1 - 3\alpha = 0.$$

In (2.42) we replace $-(1 - 3\lambda)b_0b_1$ by the expression on the right hand side of the equality (2.43) and use the relation $c_1 = -l_1$. This gives on simplification the following:

$$2(1 - 3\lambda)b_2 = 2\alpha c_3 + \alpha(\alpha - 1)c_1(c_2 - l_2) + \alpha(\alpha - 1)c_1(c_2 + l_2) + \frac{1}{3}\alpha(\alpha - 1)(\alpha - 2)c_1^3.$$

By replacing $c_2 + l_2$ by $(1 - \alpha)c_1^2$ from the relation (2.39) we obtain

$$(2.45) \quad 2(1 - 3\lambda)b_2 = 2\alpha c_3 + \alpha(\alpha - 1)c_1(c_2 - l_2) + \frac{1}{3}\alpha(\alpha - 1)(1 - 2\alpha)c_1^3.$$

We first suppose that λ and α are constrained by the requirement that $1 \leq \lambda \leq \lambda_1$ and $0 < \alpha \leq 1$ or $\lambda > \lambda_1$ and $0 < \alpha \leq \frac{1}{2}$. Now, we replace $c_1(c_2 - l_2)$ by $\mu_1(c_3 + l_3)$ from (2.44) and get:

$$\begin{aligned} 2(1 - 3\lambda)b_2 &= 2\alpha c_3 - \frac{2\alpha(1 - \alpha)(\lambda - 1)(2\lambda - 1)}{(3\lambda - 1)\alpha + 2(1 - \alpha)(\lambda - 1)(2\lambda - 1)}(c_3 + l_3) \\ &\quad + \frac{1}{3}\alpha(\alpha - 1)(1 - 2\alpha)c_1^3 \\ &= \frac{2\alpha^2(3\lambda - 1) + 2\alpha(1 - \alpha)(\lambda - 1)(2\lambda - 1)}{(3\lambda - 1)\alpha + 2(1 - \alpha)(\lambda - 1)(2\lambda - 1)}c_3 \\ &\quad - \frac{2\alpha(1 - \alpha)(\lambda - 1)(2\lambda - 1)}{(3\lambda - 1)\alpha + 2(1 - \alpha)(\lambda - 1)(2\lambda - 1)}l_3 + \frac{\alpha(1 - \alpha)(2\alpha - 1)}{3}c_1^3. \end{aligned}$$

By applying the triangle inequality together with the estimates $|c_n| \leq 1$ ($n = 1, 3$), $|l_3| \leq 2$ we have after simplification the following:

$$\begin{aligned} |b_2| &\leq \frac{2\alpha}{3\lambda - 1} \left(1 + \frac{2(1 - \alpha)|1 - 2\alpha|}{3} \right) \\ &\quad \left(1 \leq \lambda \leq \lambda_1 \text{ and } 0 < \alpha \leq 1 \text{ or } \lambda > \lambda_1 \text{ and } 0 < \alpha \leq \frac{1}{2} \right). \end{aligned}$$

We get the first estimate in (2.27). Lastly, suppose that $\lambda > \lambda_1$ and $\frac{1}{2} < \alpha \leq 1$. We apply the triangle inequality and the familiar estimates $|c_n| \leq 2$ ($n = 1, 2, 3$) in (2.45) and get

$$|b_2| \leq \frac{2\alpha}{3\lambda - 1} \left(1 + \frac{4(1 - \alpha)(1 + \alpha)}{3} \right) \quad \left(\lambda > \lambda_1, \frac{1}{2} < \alpha \leq 1 \right).$$

This is precisely the second estimate in (2.27). The proof Theorem 2.2 is thus completed. □

3. CONCLUDING REMARKS

By Definition 1.1, to each function $f \in \sigma Q_\lambda^\alpha$ we associate a function of the Carthéodory class which is of the form:

$$P(z) = 1 + c_1z + c_2z^2 + c_3z^3 + \cdots \quad (z \in \mathbb{U}).$$

Similarly, its compositional inverse function g is also associated with a function $Q(z)$ of the Carthéodory class which is given by:

$$Q(z) = 1 + l_1z + l_2z^2 + l_3z^3 + \cdots \quad (z \in \mathbb{U}).$$

The correspondence in both cases is one-to-one. In the present paper we derived suitable relationships between c_1 and l_1 , and also among c_1, c_2, c_3 and l_3 . These relations yielded refined bounds on $|c_1|, |c_1(c_2 - l_2)|, |c_2 + l_2|$ and $|c_3 + l_3|$, in suitable ranges of α and λ . Using the refined bounds we found estimates on $|a_3|$ and $|a_4|$ for functions in the class σQ_λ^α . We suitably adopted and amended the lines of proof of our Theorem 2.1 and found estimates on $|b_1|$ and $|b_2|$ for functions in the class $\Sigma\Theta_\lambda^\alpha$.

Recently Hayami and Owa [12] found bounds on $|a_4|$ and improved upon the bounds of Srivastava et al. [19] for $|a_3|$ for the class σQ^α . Thus, we have

$$(3.1) \quad |a_3| \leq \frac{2\alpha}{3}, \quad |a_4| \leq \frac{\alpha}{2} \left(1 + \frac{2(1-\alpha)(2+5\alpha)}{3(2+\alpha)} \sqrt{\frac{2}{2+\alpha}} \right) \quad (f \in \sigma Q^\alpha, 0 < \alpha \leq 1).$$

Also Frasin and Aouf [9] extended the work of Srivastava et al. [19] as follows:

$$(3.2) \quad |a_2| \leq \frac{2\alpha}{\sqrt{2\alpha(1+2\lambda) + (1-\alpha)(1+\lambda)^2}}, \quad |a_3| \leq \frac{2\alpha}{1+2\lambda} + \frac{4\alpha^2}{(1+\lambda)^2} \quad (f \in \sigma Q_\lambda^\alpha).$$

A comparison of (2.1) and (2.2) with (3.2) shows that our estimates on $|a_2|$ and $|a_3|$, for the class σQ_λ^α found in Theorem 2.1, improve upon the earlier bound obtained by Frasin and Aouf [9]. Also taking $\lambda = 1$ in Theorem 2.1 we get the estimates of Hayami and Owa [12] mentioned at (3.1).

In a recent paper Hamidi et al. [11] found bounds for functions in a class closely related to the function class $\Sigma\Theta_\lambda^\alpha$ studied in this paper, but under the restriction that initial coefficients are missing. Our work in Theorem 2.2 on coefficient bounds for initial coefficients supplements the results in [11].

REFERENCES

- [1] R. M. Ali, S. K. Lee, V. Ravichandran and S. Supramaniam, *Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions*, Appl. Math. Lett. **25** (2012), 344–351. <https://doi.org/10.1016/j.aml.2011.09.012>
- [2] S. Barik, *Estimates for initial coefficients in subclasses of bi-univalent analytic functions*, Ph. D. Thesis, Berhampur University, India, 2015.

- [3] D. A. Brannan, and J. G. Cluine (Eds.), *Aspects of Contemporary Complex Analysis*, in: *Proceedings of the NATO Advanced Study Institute*, University of Durham, Durham, July 1979, 1–20, Academic Press, New York, London, 1980.
- [4] D. A. Brannan and T. S. Taha, *On some classes of bi-univalent functions*, in: S. M. Mazhar, A. Hamoui, N. S. Faour (Eds.), *Mathematical Analysis and its Applications*, Kuwait, February 1985, 18–21, KFAS Proceedings Series **3**, Pergamon Press, Elsevier Science Limited, Oxford, 1998, 53–60. See also *Studia Univ. Babeş-Bolyai Math.* **31**(2) (1986), 70–77.
- [5] M. Çağlar, H. Orhan and N. Yağmur, *Coefficient bounds for new subclasses of bi-univalent functions*, *Filomat* **27**(7) (2013), 1165–1171. <https://doi.org/10.101610.2298/FIL1307165C>
- [6] P. N. Chichra, *New subclasses of the class of close-to-convex functions*, *Proc. Amer. Math. Soc.* **62** (1997), 37–43.
- [7] P. L. Duren, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften, Band 259, Springer-Verlag, New York, Berlin, Heidelberg, Tokyo, 1983.
- [8] S. S. Ding, Y. Ling and G. J. Bao, *Some properties of a class of analytic functions*, *J. Math. Anal. Appl.* **195**(1) (1995), 71–81.
- [9] B. A. Frasin and M. K. Aouf, *New subclasses of bi-univalent functions*, *Appl. Math. Lett.* **24** (2011), 1569–1573. <https://doi.org/10.1016/j.aml.2011.03.048>
- [10] A. W. Goodman, *Univalent Functions*, Vol. I, Mariner Publishing Co. Inc, Tampa, FL, 1983.
- [11] S. G. Hamidi, T. Janani and G. Murugasundaramoorthy, *Coefficient estimates for certain classes of meromorphic bi-univalent functions*, *C. R. Math. Acad. Sci. Paris* **352**(4) (2014), 287–282. <https://doi.org/10.1016/j.crma.2014.01.010>
- [12] T. Hayami, and S. Owa, *Coefficient bounds for bi-univalent functions*, *PanAmer. Math. J.* **22**(4) (2012), 15–26.
- [13] S. S. Kumar, V. Kumar and V. Ravichandran, *Estimates for the initial coefficients of bi-univalent functions*, *Tamsui Oxf. J. Inf. Math. Sci.* **29**(4) (2013), 487–504.
- [14] M. Lewin, *On the coefficient problem for bi-univalent functions*, *Proc. Amer. Math. Soc.* **18** (1967), 63–68. <https://doi.org/10.1090/S0002-9939-1967-0206255-1>
- [15] A. K. Mishra and M. M. Soren, *Coefficient bounds for bi-starlike analytic functions*, *Bull. Belg. Math. Soc. Simon Stevin* **21**(2) (2014), 157–161.
- [16] E. Natanyahu, *The minimal distance of image boundary from the origin and the second coefficient of a univalent function in $|z| < 1$* , *Arch. Ration. Mech. Anal.* **32** (1969), 100–112. <https://doi.org/10.1007/BF00247676>
- [17] Z. Peng and Q. Han, *On the coefficient of several classes of bi-univalent functions*, *Acta Math. Sci. Ser. B* **34**(1) (2014), 228–240. [https://doi.org/10.1016/S0252-9602\(13\)60140-X](https://doi.org/10.1016/S0252-9602(13)60140-X)
- [18] H. M. Srivastava, S. Bulut, M. Çağlar and N. Yağmur, *Coefficient estimates for a general subclass of analytic and bi-univalent functions*, *Filomat* **27**(5) (2013), 831–842. <https://doi.org/DOI10.2298/FIL1305831S>
- [19] H. M. Srivastava, A. K. Mishra, and P. Gochhayat, *Certain subclasses of analytic and bi-univalent functions*, *Appl. Math. Lett.* **23** (2010), 1188–1192. <https://doi.org/10.1016/j.aml.2010.05.009>
- [20] T. S. Taha, *Topics in univalent function theory*, Ph. D. Thesis, University of London, 1981.
- [21] Q. H. Xu, Y. C. Gui, and H. M. Srivastava, *Coefficients for certain subclasses of analytic and bi-univalent functions*, *Appl. Math. Lett.* **25** (2012), 990–994. <https://doi.org/10.1016/j.aml.2011.11.013>

¹DEPARTMENT OF COMPUTER SCIENCE,
CENTRAL UNIVERSITY OF ODISHA,
KORAPUT-763004, ODISHA, INDIA
Email address: sarbeswar1204@gmail.com

²SAANKHYA KUTEER,
GOLUNDA, JAGRUTI VIHAR,
BURLA SAMBALPUR-768020,
ODISHA, INDIA
Email address: akshayam2001@yahoo.co.in